
ASSEMBLY INSTRUCTIONS

x 2

10 MIN

1

2

3426 - 01 OLEJO DINING TABLE

LEGS x 4PCS

M8x50: 12pcs

A

M8x1.2x13: 12pcs
M8x2x19: 12pcs

B C

M13: 1pc

D

TOP x 1PC



I

M8x50: 12pcs

A

M8x1.2x13: 12pcs
M8x2x19: 12pcs

B C

M13: 1pc

D

A B

C

D



ASSEMBLY IS COMPLETE


